EQAO – LONG RESPONSE CH 6

From 01 08 






06 09

[image: image1.png]8 Washed Up on the Shore

A boat is travelling from Point C toward Point D, which is on the shoreline.
The shoreline is represented by the line through points A and B.
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Determine whether the path from C to D is perpendicular to the shoreline.

Justify your answer.





[image: image2.png]8 A Tale of Two Lines

Below are the equations of two lines.
LineA:x — 2y +8=0

LineB:2x +y+1=20

Compare the two lines by considering their slopes.

Justify your answer.




[image: image3.png]Hint:
Include information about
* steepness,
* direction and
» whether the lines are
parallel or perpendicular,
or whether they are neither.





From 2007b

[image: image4.png]i@ Lineup

The line y = % x + 50 passes through only one pair of points below.

Y.

Which pair of points could the line pass through? Justify your response.




(2010)

[image: image5.png]B The New Line

Aline bas
 the same slope as the ine represented by dx — 3y + 15 = O and
the same y-intercept as the line represeated by 2x +y + 6 = 0.

‘Detenmine an equation of this line

Sthow your work.




From 0608

[image: image6.png]Excellent Equations

Aline s perpendicular to the line y = 2x + 3 and has the same x-intercept as
X+ 3+ 10=0.

Find the equation of this line. Express your answer in the form y = mx + b.
Justify your answer.




(2012)

[image: image7.png]Hit the Slopes
‘Consider the two selations represented below.

Relation 1

5x—2y=4





Determine the slope of the line representing each relation. Which line is steeper? Justify your answer.

From 2007a

[image: image8.png]i@ Population Plans

Alvin is researching the population of Canada. He finds data for the year 2001 and predictions
for every 5 years after that, as shown below.
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Population
{in millions),

Determine an algebraic model for Alvin’s data, and use it to make a reasonable prediction
for the population of Canada in 2036.

Justify your answer.
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Answers:


Washed up:yes: slopes 2/3, -3/2


Lineup: CB


New line: y = 4/3x – 6


Excellent: y = -1/2x + 5


Tale of 2: Line A: less steep, up and right; lines are perpendicular


Hit Slopes: 5/2, 2/3. Relation 1 steeper


Population: P = 0.2t + 30.9 answers may vary











